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How muchis .... ?

How much is this shirt D

Er’ s five pounds fifty.
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Complete the following sentences:
How much is the pullover ? It's eight pounds forty
How much are the socks ? They're one pound twenty
How much is the coat ? It's sixty-five pounds seventy .
How much are the shoes ? They’re __thirty-two pounds sixty .
How much is the hat ? It's two pounds fen
How much are the trousers ? They’ re _twenty-nine pounds ninety .
How much is the dress ? It's ten pounds thirty
How much is the jacket ? It's fifty-five pounds
How much are the sunglasses ? They're four pounds eighty é:
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